f’fj@/zome/yq-‘ 5344@// /'-//ij_/a . _ANQWQQS

i) a) [ (55(1354’&.@155)

e~ro 28

36 + 56
26

[

]
oo
O

b) Jim Cos 2? ~ J")

G >0 6 Sin 56

i
1
|

G x50
= - @2
i06*
= SO 3
S
C) /lm Sfﬂ26>
9 —20 .
= 26



Fa ]
A

A
A

20 + 76 - 2@(;- yzﬁa)

| + 2.6 .

21 +16 - 20 + 1067
| | + 26
|0 &> + 10 +1
| + 26
(56 + 1) (20+T)
( +2zey
56 +1

)

¢2

e

¢e

N4

Siné
= Cos 263

i%(imég)z)

=1+ 48
2

76~

2 (+28)
= (i+2@)



4

3)

I+ Sin@
5 + 3kan@ - Gs®
ge | 48

= e
5+30 -i(i _26}_)

x I +0
5+30 - 4+267

= I + &
20430+ |
o I+ &

(28400 + 1)
I

¢4

20+]

a) Cosx - LiSine = o¢
- x* - hx = 2"
x2 5 =X*-8x = Tx*
0= 3x"+8x -2

0=(3‘x.- i)(x 2)

= =8 % [ oy -4 (3)(-2)

&
aw = —g F VW—‘

(-3%

é
0 bgg rads

¥ Doesi } [-:Ctd(.? rise

ZGNORE
NEGATIE  ANSWERS



b) 2i + Ttano - 20Cosx

I + Sin 29

_)ftvm 2 c)




